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PART-B
ZOOLOGY (Score: 30)

. Answer any 3 Questions from 1 to 5, Each carries 1 score (3x1=3)
The structural and functional unit between developing embryo (foetus) and
maternal body called............................
Expand the term
a)luDs b)ZIFT
Find the odd one out. Justify your answer.
Down's syndrome, Turner's syndrome, Phenylketonuria, Klinefelter’s syndrome
Write the four types of gametes formed in heterozygous pea plant with Yellow
and round seeds (YyRr)
A single gene can exhibit multiple phenotypic expression Such a gene is
Called..consmun

Il. Answer any 9 Questions from 6 to 16, Each carries 2 score(9 x 2 = 18)
Name the hormone which induce ovulation, what happens to remnants of
Graffian follicle after ovulation ?
Name two programmes launched by Government of India in order to attain
reproductive healthy society ?

Match the Following

Column A Column B
Gregor Mendel X-Body
Henking Mapping of gene
Thomas Hunt Morgan Garden Pea Plant
Alfred Sturtevant Term Linkage

Observe the Diagram and answer the following question

a) Identify the diagram?
b) Label the parts Aand B ?
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a)IuDs b)ZIFT

B06SO) HEEMROME: M16BB8)AS D@0 MIIW D@ 1H6))d:.

Down's syndrome, Turner's syndrome, Phenylketonuria, Klinefelter’s syndrome
Q6 M1OMBS 9Nz UOMSS HaNQENISMVNNT @ BalS 1 @3 (YyRr)
Mmoo HENBIBHYM MILT NITIQIBUE aBOL.?
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Column A Column B
Gregor Mendel X-Body
Henking Mapping of gene
Thomas Hunt Morgan Garden Pea Plant
Alfred Sturtevant Term Linkage
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10 Infections or diseases which are transmitted through sexual intercourse are
collectively called sexually transmitted infections
a)Name any two sexually transmitted infections transmitted by sharing of
injection needles, surgical instruments, etc., with infected persons, transfusion of
blood, or from an infected mother to the foetus ?
b) Write any two preventive measures to avoid STIs

11 Identify the following symbols used in pedigree analysis

@ B @
D =0 ¢ DIO

12 Characters of certain genetic disorders are given below. Identify the given

disorders

a) Disorder in which a blood clotting protein is affected leading to non-stop
bleeding even through a simple wound

b) The inborn error metabolism and affected individual lacks an enzyme that
converts Phenyl alanine to Tyrosine.

¢) Individual is short statured with small round head, furrowed tongue and
partially open mouth.

d) The defect due to either mutation or deletion which results in reduced rate of
synthesis of one of the globin chains (a and B chains) that make up
haemoglobin

13 Gonadotropins play significant role in spermatogenesis.
a) Name the two gonadotropins secreted by the anterior pituitary.
b)Write the role of gondotropins in spermatogenesis

14 A child has blood group O. If the father has blood group A and mother blood
group B, work out the genotypes of the parents and the possible genotypes of the
other offsprings.

15 Write any two reasons for population explosion?

16 a) What you meant by mutation
b)What are the different types of mutation?
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(REMOMIGRIGHN)  aldb@M  6)6RloU 1  aldh@Iiou 03686  @613)
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11 ©alw (] @emoelmlmlerl ®eLe0@M aflaMedRUd a@OMM af)PYOD:

(a) (d)

(b) (c)
O k=0 < DIO

12 aflel 20106 6)NUBHLILEERBIOS MIBINIEBRUE @IOY 6)dHISIOT 1@ 1863y,
aB@96M 2M @ 6)6NUBHEIE8BU3 af)(M alOW)d:
a) GO ENIdWle) UYL IHs B0 eal0l@ MNIN®d Moo MelenIom
QB0 (U0 HENBIHIM)
b) 0@ KM@ MVoRANHNMM 6@} HONUMLILAIEN), OHD GO0 eI
QAULBO1YNS VEIEOM @ 6)aNeeMN@ @RLRINIEB )N @A 18MI
@M lanm 6eseNIM1m @He | M08 &Y 1M @IMIUM] BNRINDM 1L
€)GRINMIIWIMIQ B3NS 1HUBH6  )1al01Q OUIDTIHIOOT LRSS MYKINI0,
aNE1NRNHU3 OB MINWYo, ald@1 @OM AUIQ®)o, WO EYNETMOUMY0
@@ @ 1H6)0.
d)9@3al@1UBOMMo  @R6RIN: 103 BY1NUIH0M Melo cRoenilnd =1 1@d
@OMIWICEMAIR @IQo SENBINRHQYo @MEAELlo O®32]0G laflBne)a Sy
eRoen1nd  ioaIRIHE1TE amMINen MIBAA06Mo  HYNQIH@Y0 62l

@nMu6o.
13 aldoen!e20@3al0cM @) 1M 6)(N06MOGI G(S9a 103 (oM
al8:) a0 186)0M)
aall@)at  (MMOIWES mMWERINo 9@aldG]alenm @2 AUIEMIBI
B(SId1MBUB a@U?

b)al3oen)’1@RI@3]IM @D 10) 6 (NIEMIGI BSOallM)BHE6S al6h)
QU@ o) dhadotropins
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lll. Answer any 3 Questions from 17 to 20, Each carries 3 score (3 x3 =9)
17 Write the correct path of sperm movement in male reproductive system starting
from seminifierous tubule
Seminiferous tubule, Urethra, Vasa efferetntia, Rete restis,
Epididymis, Vas deferens, Ejaculatory duct
18 In our society women are blamed for giving birth to female children and have
been ostracised and ill-treated,but Sex of the Baby is determined by the father,
not by the mother. Support the assertion with genetic evidence.
19 Different contraceptive methods are given below .Select the correct term from
the bracket and complete the classification table
(Multiload 375, Oral Contraceptives, Copper releasing IUDs,
coitus interruptus,Condom,Vasectomy)

Birth control methods

Natural Methods Barrier Method A Surgical Methods H
| Lactational amenorrheal| /
Diaphragms, cervical caps Tubectomy Cu-T
and vaults
Cu-7
Periodic abstinence E

Pills

20 Differentiate between
a) Male heterogamety and Female heterogamety.
b) Aneuploidy and polyploidy
c) Monohybrid cross and Dihybrid cross



. 17 @)@ @3 20 UOEQBS G2l9B168BE @B B 12130 3 af) M@ 1M
DDA 3 MICHIB Ul®o (3x3=9)

17 al}@eH  (al@®RYOaldEM  AUIMN1@3,emvalmlen0m  speniRs1@d  mlom

@0c12] aljotn IR 1MEN 21LIMED MO0 VBB 1WIQ AlID af)PYTD:.
Seminiferous tubule, Urethra, Vasa efferetntia, Rete restis,
Epididymis, Vas deferens, Ejaculatory duct

18 5)60NEEREINS  LiloeRRo  M1BeMWILNMM®  @ROUOD (VO 1HeM
M@ 1HE6N o) AOLWIREM MDOOM @3 0aNYo  M1IMN 1@3HYM).
a)(MI@3 BT M0 2iloneeBo MBeMWIHNMD @R2JMIEN) @GRONWEY.
2M1ME HMS N3 MaN @0 D @ROUSIVNIIBHDD allBEMQHE) b

19 QUMY NBRMIBRIWM AIBUNEBBRUE MIOY E)dHISYHNMM. (ENIIBHG1@E M)
@RMECWIRIAIV® @ 10IEMSY® alS 1 al)BOT0 @ 1H6d:

(Multiload 375, Oral Contraceptives, Copper releasing IUDs,
coitus interruptus,Condom,Vasectomy)

Birth control methods

Natural Methods Barrier Method A Surgical Methods
| Lactational amenorrheal| /
Diaphragms, cervical caps Tubectomy Cu-T

and vaults

Cu-7

Periodic abstinence

Pills

20 QULDIOM0 HHI6MYdd
a) @6N3 Nilal@® ellon® @Yo elalend Nilal@l@meilon.

b) @M GO W10 Balds31@alow lawl@)o
Q) 3B MVIBINIMVEB@EMoNYo BIMVIBIN MUE:@EMo



